Instruction Manual

sunJe

Electrostatics

* Zﬂ%%

27

Aol
AHZel d

gleyc

*

*

*

*
8
2
o
lo
Q
x
X
o

W o
o fr
-~ no
ST
2 fr

N

i

>

o

on 3o

*
g
2
oH
rlo
>
R
[
|0
fu

A2 st 2y 3

HFAL

4o
gI:
_O'h
|0
fu

#2312 OHAI2. 2, A,

=,
2R gua e
2| Of
s
s

510 FHAIR.

S

MBI BHEA| 21 B AFR

>
]
s
>
o x
B o O Tl
we g
e =
F W
S o 0
o rir
Y N
0 =
N o3
~ 1o
- £

>
N
il
:
HO
i
sl
>
ofo
_>a

0

HAL AFO U=,

r
ton

P2l /&0l AUSLIEE

Q= ZolsHAIAIR. Of4 AS0] ofs Y, 2, Bkl
3l

*
f
P
oH
1o
30
=
rx
N
>
o3t
lo
=
e
oju
njo
>
0fo
$
[H]
. 2]
>
s
o
Z
uy
S g
rlo
$
Hu
o
re
~
iy
ok
115}
_ovﬂ
2
fol
ok
~
[0
2
mju

™
_o'h
>
52
[l
Jhu
N
(e}
o
N
>
I_
N
>
o
o
e
sz
a o
2
2
r
2 0
ng
o
ol
U
rir
o
=2
o
Hr

3
S o ZR0ll= BIEAl T MUS 2dsto] FHAIR. 1, 2, 3ol f17I0|

E——

ioh
o
re
ot
o
oln
1
do
oo
Mo
o
T
B
gﬂ
Ir
o
k>
=2
>
rir
>
oo
gﬂ
>
o
=
=
fo
ric
P
o
rlo
o J
It
o
™
o
o
k=1
ot
c
o

*
r
o
o
I‘E

)

=E

i N
gt
=2

E >~: 0>

d0
j

*
-
i}
lo
N

rx
f=l

40 30 y

o 0f
mjo
=
N
ok
oy

rr o O
[l
rx
o

[0
[
k=)
o !

ox
23
N
E=)
40 N

*
e 0
w &
o o
my e
LS
morlo
e 2
b
oy e
o lo
o
> N

18
-
o
ok
H
fio
R
JR
re
[

el AFY

0
&
o
o
lo
ra
rx
o
4o
o
N
30
lo
0
N
10
ol

m\o
o
re
o
N
fieal
>
to

SEROl A OutDut Cableg &2[512] OHdAl2. 22SO2 215t A19| 2IFO| QUELITE

1}

k=)
i
rir
™
o

o o
©°
I
gk
oY
Jo
-l
LG
8]
o3

o
>
[
i
o0

o

1=)
30
>
il
=]

N
>
>
o
5]
o
ot
B
1o
o
gt
o
g
o>
i
fin)

B 713 L

> HE Y

2 sto|

=

A2 o7 | 2|0fl= of2Het 22 AlE 420l

E3El0] ayct

i
=

» 27t HE T4 (Opti

7|2 HE 7+ olele] 27+l

* Tube Module
SXB-05SP2-T

Bar Soft X-Ray lonizer
SXB-05SP2-# %% %-%
lea

on)

i
]

R

SXB - 05SP2 - # %% - %

Bar || Tube
Zo| || &

Of|A| : SXB - 055P2 - 1100 - 3

* Tube

Module

SXB-055P2-T-S

oSt 4~ USHICE

* Tube Module
SXB-055P2-T-E

E

* Receptacle Module
SXB-05SP2-R

* Tube-Plug Module
SXB-05SP2-TP

* Tube-Plug Module
SXB-05SP2-TP-S

* Tube-Plug Module
SXB-05SP2-TP-E

{Middle Bracket) {Boost Module)

* Boost Module

s, SXBEM

* Middle Bracket ]

\’ SERAE L * Qutput Cable
@ SOC-XN-6-001

10m/ lea

. pd ] =| I I:Hzl

» Bar Soft X-Ray lonizer (SXB-05SP2 Series)

@ Side Bracket
2] 240]| Bar Soft X-Ray lonizerE A

1717] 9%t BracketLICt.

[ )

Controller 7{4Eq
Controller®t Bar Soft X-Ray

lonizerg H&st7| /8t
7{4E Yt

°4X*‘| _..AI-iF(Tube)

EX&OI ZM%!'—IE%.

YE EAIS @

AZo| oo 3
22M0| ¥SEUCL

HI| A SASoL U B

AZ0ll 0140| U= 2 WMo HSELICE

O RUN / ALARM / OVERTIME
Tube®| 3|

ESEEEN

7P} E2Ael5IBE YetTE 2EH0|

HEe Y

Tube 3| 27| S2 3 A434M 3247|474 S
FEMD 2240 DA FSTUC,

| ooH

42 s

» Boost Module (SXB-BM)_Option
EREERT

H2] Y20 HEE DYAI7 7] /e AL RILICH

Controller 7{4lE{

Controller®} Boost ModuleS

HZ517| 25t HUE YTt
[ ]

Bar Soft X-Ray lonizers
HZ57| 25t AL YL
[ ]

K GE &M

Output Cable Max. 10M

B ATE 7t
B ZAR} O] Atojo| ‘WH-EOI U= R
B 1% 230 30| g=

B 200 WotE YIS E =R
B 93| B47} JHshEE 2t B7t0] SRl

H

Side Bracket0ll M4 2EE AtZ3510] 1Y S0 2A5| DY S| Uk, Yo, 2150
A

Ofst O S22 &+ ASLICH

Side Bracket 2 E4

Side Bracket

e ° S

{1 M4 Bolt %

M4 Bolt £

Bar Soft X-Ray lonizer 7{4lE{

02

? --------- Bar Soft X-ray lonizer

Middle Bracket2 0|&35t0{ 42|3h= < (Option)

Side BracketS 083104 Bar Soft X-Ray lonizers &
F&3tof 3‘-@3%@“2.

HAFHYAIR. 2] Aloll=

M4 BoltE A

03

0| A= Middle Bracket2 0|23510{

s

Middle Bracket

Middle Bracket

> 2 Y

A 24 MY

[ M4Bolt

x 2 ¥ Middle Bracket H2t4-2

Model

Middle Bracket QTY

SXB-055P2-600 ~1500 2ea

ChS D2zt B5 2H05t0] 24mA|2| 2 SAS M 510] FYAIR.
2100
L
&
2
E 75
&
50
25
0
0.0001 10
Thickniss(mm)
No. 24| 242 Al [mm]
0] SUS Over 0.2
@) Aluminium Over 0.25
©] Glass Over 0.5
@ PVC Over 0.6
® Acrylic Over 5.0
* AF2LO| oh S 95l HXMO| Willshs ZAFSZH2 HIEA| 2jT5 & AFBSHIAIR.
A 2;_71_ * 2T 20= QEZ HAS SUR HH5I0] SURO0| F2H AxM LYo PR=F
HSTHHAIR.

> | Ha| Y=

C1g 43 PYEE 2nstol

Output Cable

HA2. | 5 =4 SAREZ 1uSv/hr 0I312 FAI5H0] FHAI2.

Bar Soft X-Ray lonizer

)

Controller \

%(

Hi;

\— AT

(5 Ry

04

AZD * BAIZ2 DUAS ABBLCE R2] B4 Al HA F HAZ 2HTH5ED Output CableS
oL 22[5t0] FUAIR. 1Y, 2, 3hafel 90| UBLICh
> RA He
AF2 40| Z3H=l Bar Soft X-Ray lonizer?| Tube= W51 RAA|2.
Tube Module 24|5}7|
Tubef 0|40 AL} At 0| Tt HR0ll= LA TubeE TSI CHaat 20| wA|5t0]
FHAR.
* Tube7t 22| HEHOA A ZS S2512| OHYAIR. D, 23, Biafel 9/ #o| ULt
* Tubel 52 Al Zo| WAEL|CE S AZ0= A F0| =HRD2 9H2|2| OHYAIR.
3taro| 9/Eo| ALt
* Tube g HHIEIE S2E|0f YSLICE L2t A| 0k HHE7} 2G| 22
$AYO 2 EkA5H0] FA|7| HERLICH
O 2| | rubes 22zt sloz HSH DY Hulel| Tia 247} UBLIC

*

23| & Tubegt 3| 27 B2 AZE|U=2| HAFHUAIR.

BR2A| AZ5|2] o Y|t kYA 2 + UASLICE

Tube 1Y 2E O|4|Z Al 018 2 & 25 0PI + AUSLICH

UHEA| AL 7 Tube 2% 2E7} A ZE|0f UEA] &l £ ALSHAIZ HIRILICE

* Tube 1Y ZE 9lo| ZE= Hrj 2| 0MYAI2. 1, 23, Biafie] 9/ &0 ASH T

*

® Tube Module 14 EE E7|
42t E2IO|HZ Tube 2 EEE AA BiT) W&oz 52 20f
@ Tube Module 3|5}7|

Tube 1Y EES SO

@ Tube Module £2[5t7|
TubeE Ol2HE Yato 2 GAHM 2alstAlL.
2|5t Tubes A HZ|SHALE FALZ H25HH 2UA.
@ M=Z2 Tube ModuleZ 1517

M22 Tubeol TRHUIE| Y32 SIS 5| £3YFOR |2 F GipoR 7

FHAIR.

TubeZ Of2Z Yoo 2 S| HA|H FAHAIL.

{ Tube Module 1% 2E £7|

{ Tube Module £2| > { Tube Module 24| »

* Tube ModuleS 2|5 §| Controllerdf| A Tube ResetS A18i510] FAA|2.
Reset (2|5 512 %42 A, WA ETube Module 2t535t2| Q&LICE

Tube-Plug Module 24517

(® Tube-Plug Module £2[5t7|
7{HE] S2H0l| 2| ASHE Al giol Yoz S
22|38t Tube-Plug Module2 2| T|7|A[7| 2Lt YAtZ
@ M2 Tube-Plug ModuleZ 4|5t7|
AM=Z& Tube-Plug Module2| 7{4|E{Tl &5
AA YEo 2 S8 A Zst0 FUAIR.

njo
Job
re
ek
in
4>
o0&
oL
ook
|
hu
mi
$
]
=)
<
I
=
il
i}
o
nfu

(Tube-Plug Module£2]>

% Tube-Plug Moduleg 2|3t £ Controller0fl A Tube ResetS AlEH0] ZAAI2.
Reset 2|2 51| %42 2%, Tube-Plug Module 253t Q&LICH




=H siZE
> DFAT A SHOIALS
Y 2HOIAS} ESN
HelBaasze s
29 B2t AU iy
2ts SIES
AIQHESIS SOl O] Aerglo] Helg QBT
QJ2is|of YL (AC 100~240V, 50/60Hz)
AES2| Folo] HUAL|A2} ol Aol
49l A9|%|2 ZLIC
WA Y& M AQ|X|E FHU Lt
Z0| =25
ARED] 243t BRI} O EYEUIR Afgoj She Bz paELICH
AL
Alarm LED7} — [
= L|C
HESI0| ALt DA TubeZ PYsto LHBLICH
r2|me 43, g2 gt
2|EE AEQQIL 7} EoJ_o—|_
=S Off gete It 2|=E OffZ aiABHLICt,
rolg{at M SH20) w}e
QIEf2} Off AlEHRILIF? e
lE|2 OngiLct
MBI EAdoR | B MBMol BHEAt o 2810l i) SO LI
232 okELICH 242 A A|0f 9IR| UELIIR 2400] Sl=Al HUg U
rY2|Qf MY A5, B2
BAIEI UUSLIR “ [LH} e iiﬁ%lifu ;Wl
B0l £33 = eAEnE.
LEs 24Z Cable0| EHE|Lt EHSIPHL A8 Cableg
EHE A2 orgLmb S AFFOZ WHFILIC,
L1
» SXB-05SP2 Series
{Top > R2.5 *H 8.0
| | *
EF 34 -
[
\ B125 o
| |
| C#2.5 |
{ Front )
| A+25 | | @
1 1374 D#25 1766 ! N
o ey oy I
]I Y
S
2-M3 X 0.5 Thru
~
Bo S
£58%
i
|5 2
)
< Rear)

o
H 3
2-M3X 0.5 L] A
Max. Thread Depth X 5.0 40.0 @ =i
{ Bottom » 30.0
»H‘i ||
ol 1 I
Side 29.2
< 0 28.0
©
15.0
A.H,i

No. MODEL No. A B C D |TUBEQTY
1 SXB-055P2-300-1 314 | 335 | 364 - 1
2 SXB-055P2-600-2 625 | 646 | 675 2
3 SXB-055P2-900-3 936 | 957 | 986 | 311 3
4 SXB-055P2-1200-4 1247 | 1268 | 1297 4
5 SXB-055P2-700-2 734 | 755 | 784 2
6 SXB-055P2-1100-3 1154 | 1175 | 1204 | 420 3
7 SXB-055P2-1500-4 1574 | 1595 | 1624 4

» Tube Module (SXB-05SP2-T-S) _Option

{ Front »

o
)
o~
Both Sides 7-M3X0.5 Ll
otn >ides /- . 50 |, 310,55
<Rear) Max. Thread DepthX0.5 ‘ i 45
o | Sf 2|2
g |15 8R
I
| Cable Length 46.0 o
Standard 2,000 0
69.5 Max. 5,000 60.5
I I
» Tube Module (SXB-05SP2-T-E) _Option
{ Front »

70.0

{ Section A-A (1:2) >

5-M3X0.5
Max. Thread DepthX5.0 {Side >

i}

A —

!
~

L[ o
5.0 60.0

70.0 Cable Length
tandard 2,000 |.39.0 |
69.5 | Max. 5,000 | 55.0

5.5

415
36.5
31.0,

o]

62.8

< Bottom )
3-M3X0.5
Max. Thread DepthX5.0
70.0
ey &l 60.0 5.0
n <

]
beJ

07

» Receptacle Module (SXB-05SP2-R) + Tube -Plug Module (SXB-05SP2-TP) _Option

2-M3X0.5
Max. Thread DepthX0.5

{ Front >
2-M3X0.5 Thru
T " aro
1 1 D E Hi ol o
o
=
8.0[[|7.0
54.5 15.0
< Side » o
wn
zx‘ @E@ 1 ] D il | =
{Rear)
é ) | ] | HII — %
69.5 167.2 ‘ 87.5 ‘
T T T T 1
Receptacle Part Tube Part
Cable Length Cable Length
Standard 1,000 2,000
Max. 3,000
< Bottom »
» Tube-Plug Module (SXB-05SP2-TP-S) _Option
{ Front »
e | I R —
< Side »
0
o~
41.5
{Rear) 50[31.0]55 < Bottom »
Both Sides 7-M3X0.5 45
Max. Thread DepthX0.5
o
= 1T 1| |43/ 2
o S8 R
3 o o
Cable Length 46.0 3
102.9 2,000 60.5
I
» Tube-Plug Module (SXB-05SP2-TP-S) _Option
{ Front )
{ Section A-A (1:2) >
n 5-M3X0.5
) Max. Thread DepthX5.0
| L[Sy )
b e < Bottom )
3-M3X0.5

5.0 ||__60.0
70.0

Max. Thread DepthX5.0

70.0
9 0.0
{Side » A
=] | I
A—
39.0
Cable Length
102.9 2,000 55.0

» Middle Bracket (Option)

x B9 14 D240 230 Tzt 0| FHsBUCEH

» Boost Module (Option)

{Top > { Bottom )
— Ly
i S Co— T
{ Front )
65.0 36.0
1/4 - 20 UNC s {Side >
2-M4X0.7
=~ 1
o I 8 ® @
gl ~
137.0 29.8
149.6 339 —l

0 A

Parameter Description / Value
lon Generation Method Soft X-ray
Source Soft X-ray Tube
Tube Voltage 4.9kv
Beam Angle 150°
Power Consumption (with Controller) Max. 150W

Operation Circumstance

0T ~ +50C(32°F ~ 122°F), 35% ~ 85% RH

Controller

SXC-10BT / SXC-10BL M & (Ef ZHES2| 58 0HEl)

Warranty

1 year

# L2 L HF A2 SUTE 9fsf 02 glo] HEE 4 UASUICE

S UnJG Electrostatics

www.sunstat.com

| &) H2H3LO[E2 2At
SAC| T3 OB B 8

T) 051-720-7500  F) 051-720-7501

goes
47| L LHH0IS 795
T)031-203-9034  F) 031-202-9034

DMMIE| 070-7714-9033
HAUALE 031-203-9034

] Sunje Japan Co,, Ltd.
Dai 7 Matsuya Bldg 10F 1005 2-23, Honmachibashi,
Chuo-ku, Osaka, Japan
T) +81-6-6949-5001  F) +81-6-6949-5011

] Sunie (SHANGHA) Trading Co. Ltd.
Block C, 4F, No.482, Hongxu Road, Minhang District,
Shanghai, China
T) +86-21-5433-9761 F) +86-21-5433-9762

Sunje Technology Co., Ltd.

2F, No.6, Lane.102, Sinhe Rd, Sinfong Township,
Hsinchu County, Taiwan 30472

T) +886-3-568-7891  F) +886-3-568-7950

Copyright 2022. SUNJE Hi-Tek Co., Ltd. All Rights Reserved.

Tl
o

E=T

08



